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=2 103,000 0 103,000
[ 13,000 0 13,000
2 55,000 40,000 15,000
FURA MBOAH HEAY 23,000 40,000 A17,000
207 &R IH et 23,000 40,000 A17,000
01 AR 23,000 40,000 217,000
0 FAX A MEHEH HEIMY g (H2Y 23,000 40,000 A17,000
FobX|ol MBI MEAY(LIEOIE) 148,000 0 148,000
= 103,000 0 103,000
[ 13,000 0 13,000




2N
ColeHed MEAY =T

el

X ZH
S =

= RSN

FHoX o MEBOI HEAL

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
o 32,000 0 32,000
401 AIEHIZ 2 THHI 148,000 0 148,000
= 103,000 0 103,000
S 13,000 0 13,000
= 32,000 0 32,000
01 A& Hl 148,000 0 148,000
0 FHAXA MEHH HEAS (LHEXF) 148,000 0 148,000
= 103,000 0 103,000
S 13,000 0 13,000
= 32,000 0 32,000
s SEAHOE ZEAE 550,000 850,000 300,000
= 500,000 500,000 0
a 50,000 350,000 300,000
ols SEAHONE =AY 550,000 850,000 300,000
s 500,000 500,000 0
Ea 50,000 350,000 300,000
401 AIEBIZ S CHYI 550,000 850,000 300,000
= 500,000 500,000 0
i 50,000 350,000 A300,000
01 A& HI 544,645 844,645 300,000
0ots SEAHONE ZHAY 544,645 844,645 A.300,000
= 500,000 500,000 0
[a 44,645 344,645 300,000
2itel FE 1,466,524 1,878,608 AN412,084
= 295,155 513,155 218,000
< 107,655 164,295 A46,640
= 1,063,714 1,211,158 AN 147,444
SSZZTAME = 737,486 737,670 N 184
XNXH S2S2=2 A 737,486 737,670 N 184
201 LEt2A | 3,486 3,670 N 184
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0 Let=EHI(SS)(EZ) 9,348 10,640 N 1,292
203 @2 =&l 3,420 3,600 A 180




2N

= RSN

H: HH2IAH (M)
¢l =gl (chel & 9l)
£ Y -HA(S) - NRMY - BES Ofl & oH JEH Hn&s2Z
04 EAN2I LRI 3,420 3,600 A 180
0 RN2Z(EZ) 3,420 3,600 A 180




